First Names Cocktails Fruits

1. Of the person who grows strawberries and Emilio, one earns $61,000 per year and the other earns $78,000 per year.
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2. The person who drinks pink squirrels is Emilio.

3. The person who grows blackberries doesn't drink shirley temples.

4. The person who grows strawberries earns more than the person who drinks shirley temples.

5. The employee

with the $78,000 salary is not Elizabeth.

6. The person who drinks moijitos earns less than the person who drinks pink squirrels.

7. The person who drinks mojitos is not Delilah.

8. Either the person who grows bananas or the person who grows blackberries drinks pink squirrels.

9. The person who grows apricots is not Brittany.

10. The person who grows blackberries is Delilah.
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